
Recap   Lecture 10 



Today: 
• Electric current 

• Current density 

• Electrical resistance 

 

 

 

 

 







Consider a beam of protons, all moving with 

constant velocity   . 

If n is the number of protons per unit volume in 

the beam, how many protons pass through the 

cross sectional area A in time t ? 
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Consider a beam of protons (charge e), all 

moving with constant velocity   . n is the number 

of protons per unit volume in the beam.  
 

What is the electric current carried by the beam? 
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A. 0      B. nevA  C. nev     D. evA 
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